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Section A: Muiltiple Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One of them is the cofrect
answer. Make your choice (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Which one of the following is a characteristic of aff fiying ings?
(1} They can grow. _
(2)  They cannot reproduce.
(3)  They make their own food.
4

They need water and food only.

2. Look at the objects shown below.

Toy train Dictionary Dol

What do you observe about ali the three objects?

(1)
(2)
Q)
4)

They can move by themselves.

They do not need air, water and food.

They are all made from things that were once afive.
They are all made from things that were never alive.

CHS/SCIP4/SA112009 1
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3. Study the classification diagram shown below.

| Animals e
i — 1 I —
Group A Group B - Group C Group D
Rabbit Tadpole Moth Lizard
Kangaroo Salmon Mynah Turtle
The animals are grouped according to .
—
- {1} how they move
(2)  where they live
{3) what they feed on
{4)  what their body coverings are
4 Each of the foliowing jars contains five similar pbea seeds put ynder

Jar placed in a refrigerator Jars placed near a window

chemical
‘ " that
| absorbs
I oxygen
| 2 .-:Q-@-‘ __CT;?,,
_@&@ ,:1: ——t T ==

Seeds in damp  Seeds in dry  Seedsin damp cotton wool
cotton wool cofton wool

The seeds in Jar will have the best chance to deveiop into

seedlings.
A
(2) B
@B) ¢
4) D

CHS/SCIP4/SA1/2009 2



2009 - P4 - SC - SAl - Catholic

5. Our must work together so that we can move different
parts of our body.

A veins
B muscles
-C bones .

(1)  AandB only

(2) AandConly
{3y BandC only

(¥3) A BandC

A
B
C

E D

F

Where does digest_ion take place?

() AandF only
(2) BandF only
{3  C.DandE only
(49 A CandE only

CHS/SCIP4/SA 12009 3
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7. The classification diagram below shows the different systems in the bady
and their functions. :
Organs
- - I — - .
I H { 1
A B C D
I I __ | _
Help to digest Work together || -~ Helpto Help to
and absorb with skeletal support the exchange
food for use by system in body. gases for the
the body. order for the body.
' body to move.
*—-Organ X
Which body system does Organ X belong to?
(n A
(Zy B
3y ¢C
4y D
8. The bar chart below shows the number of hours food stays in different

parts of the digestive system.

25

Numberof 20 - ——
hours food | ' Fe
stays in the 15
digestive 10 -
system 5 |

0 o . - :
Stomach Small lntestine Large Infestine

What is the number of hours that food stays in the small intestine?

(1y. 1
2y 5
(3) 15
4y 20

CHS/SCIPAISA1/2009 4
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9. Which one of these statements is true about a fruit?

{1} it protects the seeds.
{2)  Itcangrow into a new plant.
{3)  Itcan make food for the piant.
(4) it takes in nutrients and water.

10.  Identify the parts A, B, C and D of the plant,

A
B .
D
A B C D
(1) Leaf Root Flower Stem
(2) Root Flower Leaf Stem
3 Stem Leaf Root _Flower
(4) Flower Leaf - Stem Root

CHS/SC/P4/SA 172009 5
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11.  Same water containing red dye was poured into the soif of a potted plant.
After afew hours, some parts of the flowers and leaves lfumed red.

Which of the following statements describes what had happened?

A Wateris faken in by the roots.

B Wateris transported fo the leaves.
C  Wateris transported to the flowers.
D  Wateris carried through the stem.

(1) AandDonly
{2) BandcC only

(3) A BandC only
(4) A B,CandD

12, Avyoung seediing can grow from a seed under favourable conditions.

seedling
Which one of the following statements about the seediing is true?
(1)  The seedling gets its food from its seed leaves.
(2)  Theroots of the seedling grow towards sunlight.

(3)  The shoot of the seedling continues to grow downwards.
(4)  The Seed needs only air and water to develop into a seedling.

CHS/SC/P4ISA1/2009 6
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13 ‘Ina laboratory, a group of pupils was shown the ffe cycle of a chicken as
~shownbelow. . oo heliecycleofa chicken as

- The pupils made the following statements.

* A “‘Achicken has a 3.stage ifo cycle.
B Thechickclosely resembles ifs parents., .
© The egg needs constant wamth for 21 days before it becomes
. a.'lchi'-ck" . - ) ) - .. . B ] N B . | . )

~ Which of the following statements made by the pupils is/are correct?
'A- ohf.y. _
‘A and B only

. Band'C only
-A,Band C

14. Rékesh-made 'the foIIOv_vin_g observations about the growth of a green bean

plant.

‘Day Length of'Rdotl | Length of Shoot/ | Numiber of Leaves

w-h-n'oczg

Blelslnio|
G TN INY PRSP

Hainv[ololo!

- From which day can the plant start- making its own food?

@ Day2

Day 4
: Day 6
) Day 10

CHSISC/Pa/SA1/2009 7
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15.  The diagrams below show a seedling and an adult plant. -

Which of the following is true for both the aduit plant and seedling?

A
B
Cc
D

Make its own food. :

Absorb water through its roots. -

Take in minerg! salts through its roots.
Have seeds.

{1) AandBonly
B and C only
A, B and C only
B, C and D only

16.  The tabie below shows the height of a seedling recorded over a period of

6 weeks.

Week Height of seedling/
cm
4
7
16
19

SDD|N =

Assuming that the seedling grows at the same rate, what would be the
height of the seedling in weak 47

&) 7 cm

(2) 10 cm
{(3)  13cm
@ 15cm

CHS/SC/PAISA1I2009
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- 17.

18.

Hardest - ———— % Softest
1Y A > B — plastic
73 A > plastic » B
(3) B + plastic > A
(4) plastic ——————> A - *B |

Joey performed an experiment on 10g of green beans. Refer to her results
shown below to answer the following question.

. Presence of Average growth

Dish Condttg;n o; green water, air and after (?rieQWeekl
bean warmth cm
1 . Raw .. Yes - 4
2 Boiled 1 Yes 0
3 ' Raw ' No 0

What conclusion can Joey draw from her results?

(1)  The boiled beans are non-living things and hence cannat grow.
(2)  Green beans will grow under any condition as long as they are not

boiled. . .

(3)  The raw beans cannot grow in the presence of water, air and
warmth,

{4)  You should use different types of beans in order to see growth in all
three dishes. -

Joanna tried to test how hard objects made of materials A and B are by
rubbing the objects on two identical plastic sheets,

A B

no scratch mark scratch mark

—plastic

Which of the following shows the hardness of objects A and B in the
correct order?

CHSISCIP4/SA1/2009 g



2009 - P4 - SC - SAl - Catholic

19.  The flowchart below shows the properties of some objects.

~ Objects
\ 4 — Yes 7
Breaks easily?_, A
No
"_ Yes
Is flexible? » B
No
L 4
C

Which of the following couid A, B and C represent?

A B C B
(1) Glass mug Rubber tyre Wooden ruler

V3] Glass mug | Woaden ruler | Plastic cup ]
{3) Plastic cup | Wooden ruter Glass mug |
{4) Rubber tyre Glass mug Wooden rufer |

CHS/ISC/P4/SA1/2009 10



2009 - P4 - SC - SAl - Catholic

20.  Mrs Tan wanted to make a new set of curtains that would prevent as much
sunlight as possible from entering her bedroom. The graph below shows
how much light passes through four samples of fabric A, B, C and D.

100—

80—

Amount of light
that passed 60—
through/lux

40 —

20

D  Fabric

Which fabric should she choose to make her curtains?

OOmP

21. A freely-hanging bar magnet always comes torest in a
direction.

east-west
north-east
south-west
north-south

22.  What will happen when a rod magnet is cut into two equal halves?

The rod magnet will gain strength.

Each half will become a magnet itself.

The rod magnet will iose all its strength.

One half will become the North pole and the other half wili become
the South pole.

CHS/ISC/P4ISA1/2009 11
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23.  Which of the following pictures shows what you will most likely observe

after you pour some iron filings onto a magnet?

() 2)

3 “4)

24.  The classification diagram below shows how some objects are grouped.

Objects
Group A Group B
Razor blade Aluminium foil
Needle Silver coin
Lodestone Gold ring

Which one of the following objects can be classified under Group B?

lron nail

Nickel coin
Copper wire
Steel paper clip

CHSISCIP4ISA1/2009 12
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25.  Which of the fallowing containers can be used to store 500cm® of oxygen?

Y anly

Z only

Y and Z only
4 X, Yand Z.

26.  Aball of plasticine was put into a beaker containing 200 ml of water. The.
water rose to 450ml, as shown in the Figure R.

plasticine

450 ml
EE——_

200 mi

ball of
plasticine ,

Figure R Figure S

The plasticine was then taken ouf and moulded into another shape. it was
put into the beaker again as shown in Figure S.

What would the water level be in Figure S?

(1y  300mi
{2) 350mi
(3} 450ml
(4} 500 ml

CHSISCIPAISA /2009 13
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27.  Mary is boiling water in a kettle.
| _ A
Eadel Vb Al A AT A
What is present in regions A and B?
! = T AL o L o L
RN S -
(1) Al Water Droplets
(2) Steam Air
(3) Steam Water Droplets
(4} { water Droplets Steam
28.  Which of the following are classified carrectly?
Matter Non-Matter
Snow Dew
pA Laser Air
Clouds Shadow
{ Thunder Dust |

CHSISCIP4/SA1/2009 14
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29.  Study the diagram below.

Matter
Group A Group B ' Group C
water nitrogen stones
milk hydrogen marbles

Which of the following can be placed in groups A, B and C respectively?

Group A Group B Group C
(1) Honey Plasticine Oxygen
{2 Honey Oxygen Plasticine
{3) Honey Helium Carbon dioxide
(4) Honey Carbon dioxide Alcohol

CHS/SCIP4/SA 172009 15
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30.  Beaker A was filled with water to the 50 m{ mark. In Beaker B, 4 glass

marbles were placed inside as shown. All the water in Beaker A was then
poured into Beaker B. '

water

P

/

glass marbles

Beaker B

Which of the following shows the level of water in Beaker B after the water
has been poured?

) ) (2)

3) . -, ) \ %

_ END OF SECTIONA
CHS/SCIP4/SA1/2009 16
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Section B: Open-Ended Questions (40 marks)

Read the following questions carefully and write your answers in the space
provided. The maximum mark that can be awarded is shown at the end of

each question or part-question.

31.  Study the poster below.

ANIMAL FOR SALE

Newborn animal for sale! You will
love its soft white fur. It must be fed
with milk for the first two weeks.
Call 6333-1234 for more
information.

&

Based on the information given, which group does the animatl described in
the poster belong to? Based on the advertisement above give two reasons

for your answer. {3]

CHSISCIP4/SA1/2009 17
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32. (@) Name the two different parts of the skeleton shown below. 1]

(b)  State one function that these fwo parts of the skeleton have in
common. {1

{c) Which system does the skeletal system work with to help us to
move? ' {1]

CHS/SC/P4ISA1/2009 18
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33.  The figure below shows our digestive system.

A
B
(@)  Name the following parts of the digestive system. {13
A
B
(b}  What happens at Part B of the digestive system? [1]

(c} What will the waste materiai be like if i i
\ _ part B of the dige
1S not working well? gestive syste;r;

CHS/ISCIP4ISA1/2009 19
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34.  The diagram below shows a fully grown plant.

(@)  Weiling removed the outer ring of part B and the plant died within
the next few days. Why did the plant die after the outer ring of part
B was removed? {1]

(b}  How would part A be affected if it was covered entirely with black

paper? [2]

CHSISCIP4ISA1/2009 20
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35.  The diagram below shows how a bean seed develops.

Stage 1 Stage 2 Stage 3 Stage 4

(@) Namethe process_ that the bean seed is going through. [1]

(b}  Fill in the blanks below which describes the process in part (a).  [2]

At stage 1, the grows downwards, followed by the

that grows upwards at stage 2. Then new

- will devéiop at stage 3 and the will be-able to

make its own food af stage 4.

CHSISC/P4{SA1/2009 21




2009 - P4 - SC - SAl - Catholic

36.  Study the figures below and fill in the column on the right with a *True’ for
a correct statement and a ‘False’ for a wrong statement. {21

X and Y are living things.

X and Y are growing now.

X can make food but Y takes in food.

X needs to germinate and grow into a plant but Y will
grow into a chicken.

CHSISCRP4ISA12009 22
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37.  Thelife cycles of 2 different animals, A and B, are shown below.

(@  Complete the fife cycles by filling in the boxes beiow. _ [1]
: egg
- egg
beetle larva /
dragonfly
Life cycle A Life cycle B

(b)  Based on the information given above, name one difference
between life cycies A and B. [2}

{c) Why are life cycles important? 1]

CHSISCIP4AISA12009 23
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38.  Use the graphic organizer below to compare the properties of a plastic
bag and a metal rod based on their strength, ability to float and flexibility.

31
Materials
y _ y_
Plastic bag - Metal rod
(a) @
Strength
(b) b)
Ability to
float on
water
{c) (c)
Flexibility

CHS/SCIP4ISA1/2009 24
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39.  Use the table provided to classify the objects listed below accordmg to

their headings.

(3]

- Aftows all fight to
~ pass through -

‘Allows some light to

pass through -

B light to pass through

Does riot allfow any.

_—

CHS/SCIPAISAN2009

25
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40. State two ways in which a magnet may lose its magnetism. 2]

M

(i)

41. Three electromagnets, A, B and C, are made from identical iron rods.

A B C

{a) Arrange these electromagnets in ascending order of their magnetic
strengths, starting from the weakest to the sirongest. [1]
{b}  Give a reason for their difference in magnetic strength. - [2}
5
CHSISCIP4ISA1/2009 26
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42.  Sally wanted to play basketball. The basketball she had did not bounce
well. She pumped the basketball with air until it was very hard. She
measured.the volume of the basketball and it was the same.

{a) Why did the volume of the basketball remain the same? [1}
(b}  Did the mass of the afr in the basketball change? Why? g
2

CHS/ISCIPAISA1/2009 27
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43.

CHSISCIP4ISA 12009 28

A beaker contains 2 litres of cooking oil. The mass of the cooking oil is
700 grams.

(a)

(&)

€}

What can be used to measure the mass and the volume of the
cooking oil? : 1]

) mass

(i) wvolume

All the cooking oit is poured from the beaker into a large container
which has a volume of 4 litres and a masg, of 1 kilogram. What is
the mass and volume of the cooking oilin the large container? 1

10} mass

(i) volume

What changed when the cooking oil is poured into the farge
container? 1]
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44.  Ahmad was canying out an experiment. He filied a can with water up to its
spout as shown below. '

When he placed a small stone gently inside the can so that it is completely
covered by the water, water flows cut from the spout.

(@}  Why does the water flow out of the spout? ™ [

(b)  How can Ahmad find the volume of the stone? (21

%2 END OF PAPER o

HAVE YOU CHECKED YOUR ANSWERS?

CHS/SC/PAISA12009 29 -
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QL Q2103 0Q410Q51Q6| Q7 | Q8 1Q9 |010/0Q11Q12|Q13Q141Q15]Q16

1 2 1 3 3 4 1 2 1 4 4 1 4 3 3 3

Q181Q19 Q20 Q21 | Q22 1 Q23 { Q24 | Q25| Q26 | Q27 | Q28 | Q29 { Q30

3 1 4 4 2 1 3 4 3 3 3 2 4

31)The animal belongs to the mammal group.1)The poster said
that it had fur. 2)The poster also said that it must be fed with mitk.

32)a)i)skull ii)Ribcage

b)The two paits of the skeleton both protects an important
organ.

c)It works with the muscular system to help us to move.

33)a)A: Stomach B: Large intestine
b)Wateris removed from undigested food.
C)An the waste material would all be soft and watery.

34)a)Part B is the part whichtransport food and water to all the
parts of the plant so when it is removed, the plant would not any
food and water and eventually die.

b)Part A will die because it will not be able to trap sunlight to
make food for the plant.

35)a)The process it is going through is germination.
b)root, shoot, leaves, seedling

pagelto 2 page 1
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36)T, T, T,F

37)a)Pupa -nymph :

b)Life cycle A has four stages but life cycle B only has three
stages.

c)It is important as it isto ensure that the same type of animal
does not become extinct. ' -

38)a)breaks easily Does not breaks easily
b)Have ability to float on water Do not have ability to float
on water
c)Flexible . Not flexible
39)Clear plastic Tracing paper - Rubber tyre
Car windscreen Thin white cloth Brick

40)i)By hitting it several times with a hammer.
il)By heating it over a fire. |

41)a)Magnet C, Magnet A, Magnet B.
b)B has the most number of tums wire coded around it while C
has the least so the magnetic strength is lowest.

42)a)The basketball was at its full size but there was not much air
so when she pumped in more air, the air compressed in side the ball.
b)Yes, the mass of the air in the basketball changed. The air
has mass so when she pumped the air in the mass changed.

43)a)i)electric balance  ii)measuring cylinder
b)i)700 grams ii)2 liters
¢)The shape of the oil.

44)a)The water and stone have volume so when the stone is putin
the volume of the water rises as the stone have volume too.
b)He can pour the water into a beaker and then put in the stone.
Write down the volume of the water before putting in the stone
then later write down the volume of the stone and water together
and minus it. :
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